I*t Pre-Board Exam : 2015 - 16
Sub. : Accountancy
Class : XII

Time : 3 Hrs. M.M. 80
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What share of profit would a ‘sleeping partner' who has contributed 75% of the total capi-

tal, get in the absence of a deed? 1
Can a partner be exempted from sharing the losses in a firm? If yes, under what circum-
stances? 1
Give the meaning of 'reconstitution of a partnership firm'. 1
KX ap_d Z are partnershar'ing profit in the ratio of % - —;— and 1—0 . Find the new ratio of
remaining partners If Z retires. 1
In case of dissolution of a firm, which item on the liabilities side are to be paid last? 1
What is meant by 'undersubscription'? 1
What is meant by 'capital reserve'? : 1
Give the meaning of debenture'. 1

Tata Ltd. issued 5,000, 10% debenture of Rs. 100 each on 1St April, 2012. The issue was
fully subscribed. According to the terms of issue, interest on debentures is payable half-
yearly on 30th Sept. and 31st March and tax deducted at source is 10%.

Pass the necessary entries related to the debenture interest for the half yearly ending on
31st March, 2013, and transfer on interest on debentures to statement of profit and loss.3

Abusiness has earned average profits of Rs. 1,00,000 during the lasst few years and the
normal rate of return in similar business is 10%. Find out the value of goodwill by

(i) Capitalisation of super profit method.

(ii) Supre profit method, if the goodwill is valued at 3 years purchase of super profit.
The assets of the business were Rs. 10,00,000 and its external liabilities Rs. 1,80,000.
Define goodwill. Explain any three methods of goodwill. 3

Sundram Ltd purchased furniture for Rs. 3,00,000 from Ravindram Ltd. Rs. 1,00,000 were
paid by drawing a promissory note in favour of Ravindram Ltd. The balance was paid by
issue of equity shares of Rs. 10 each at a premium of 25% pass journal entries in the
books of Sundram Ltd.

Aand B are partners sharing profits and losses in the ratio of 2 : 1. They admit C for 1/3rd
share which he acquires in equal proportion from both. Find the new profit sharing ratio.4

Sita, Geeta and Rita were partners sharing profits in the ratio 2 : 2 : 1 respectively. Follow-
ing was their balance sheet as at 31st march, 2013. 4.
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Balance Sheet

(as on 31st March 2013)
Liabilities Amount (Rs.) Assets Amount (Rs.)
Capital Alc sl Cash 41,000
Sita  1,20,000 ' Stock 60,000
Geeta 80,000 Debtors 44,000
Rita  1,00,000 3,00,000 Building ' 2,00,000
Creditors 60,000 Plant 80,000
Bills payable 40,000
Profit and loss Alc 25,000

4,25,000 [ 425,000

On the above data Sita retired and following were agreed :

(i) Stock was valued at Rs. 59,000, debtors Rs. 40,000 : building Rs. 2,10,000 : plant Rs.
70,000 and creditors Rs. 50,000.

(ii) Amount due to Sita will be transferred to Sita's loan account. Prepare revolution ac-
count and Sita's capital account.

Hemant and Nishant were partners in a firm sharing profits in the ratio of 3 : 2. Their
capitals were Rs. 1,60,000 and 1,00,000 respectively. They admitted Somesh on 1stApril,
2013 as a new partner for 1/5 share in the future profits. Somesh brought Rs. 1,20,000 as
his capital. Calculate the value of goodwill of the firm and record necessary journal entries
for the above transactions on Somesh's admission. 4

Define the following : 4
(a) Preference shares
(b) Equity shares ‘

Sarvottam Ltd. decided to redeem its 1,250, 12%. debentures of Rs. 100 each. It pur-
chased 850 debentures from the open market at 96 per debenture. The remaining deben-
tures were redeemed out of profit. The company has already made a provision for deben-
ture redemption reserve in its books.

Pass necessary journal entries in the books of the company for the above transactions.
4

A and B were partners in a firm sharing profits and losses in the ratio of 5: 3. They
admitted (as a new partner. A surrendered 1/3rd of his share in favour of C and B surren-
dered 1/4th of his share in favour of C. C brought Rs. 1,50,000 for his capital and R.
58,000 for his share of goodwill calculate new profit sharing ratio of A, Band C sacrificing
ratio of A and B and pass necessary journal entries for the above transactions on C's
admission.
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Following is the Balance Sheet of X, Y and Z as on 31st March, 2008. They shared profits
intheratioof 3:3: 2.

Balance Sheet
(as on 31st March, 2008)
Liabilities Amount (Rs.) | Assets Amount (Rs.)
Sundsry Creditors 2,50,000 Cash at Bank 50,000
General Reserve 80,000 Bills receivable 60,000
" Partner's Loan Alc's Debtors 80,000
x 50,000 (-) provision for
y 40,000 90,000 doubtful debts 4000 76,000
capital A/C's | stock % 1,24,000
X 1,00,000 fixed assets 3,00,000
Y 60,000 : Advertisement suspense Alc 16,000
Z 50,000 | 2,10,000 Profit and loss A/c 4,000
6,30,000 6,30,000

On the 1st April, 2008 Y decided to retire from the firm on the following terms.
(i) Stock to be depreciated by Rs. 12,000.

(i) Advertisement suspense account to be written off.

(iii) Fixed assets to be appreciated by 10%.

(iv) Provision for doubtful debts to be increased to Rs. 6,000.

(v) Goodwill of the firm valued at Rs. 80,000 and the amount due to the retiring partner be
adjusted in x's and z's capital account.

Prepare revolution account, partner's capital account and the balance sheet to give effect
to the above. 6

Ram, Rahim and Robert were partners sharing profits in 2 : 3 : 1 ratio respectively. The
partnership deed provided that in case of death of a partner the deceased partner's share
of capital will be donated for the contruction of a hospital in the tribal area.

Due to ill health Robert died on 30th Sep 2013. The balance sheet of Ram, Rahim and
Robert on 31st March, 2013f was as follows.
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Balance Sheet

(as on 31st March, 2013)
Liabilities Amount (Rs.) | Assets Amount (Rs.)
Capital Alc Cash 14,000
Ram 1,00,000 Bank 2,96,000
Rahim 2,00,000 Stock 80,000
Robert 3,00,000 6,00,000 Debtors 3,00,000
Creditors 3,60,000 Investments 50,000
Workemen's compensation F | 20,000 land 2,50,000
Provision for Doubtful
Debts 10,000
9,90,000 [ 9,90,000

On the date of Robert's death i.e. 30th Sept. 2013 the following was agreed upon

(i) Goodwill is to be valued at two year's purchase of average profits of Isast three
completed years i.e. 2010-2011-Rs. 45,000, 2011-12- 90,000 and 2012-13 - Rs.
1,35,000.

(ii) Robert's share of profits till the date of his death will be calculated the basis of aver-
age profits of last three years.

(iii) Land was undervalued by Rs. 25,000 and stock overvalued by Rs. 8,000.
(iv) Provision for doubtful debts is to be made at 5% of Debtors.
(v) Claim of workmen compensation estimated at Rs. 5,000.

Prepare Robert capital account to be presented to his executors. Also, identify a value
that Ram, Rahim and Robert wanted to communicate to the society. 6

Distinction between Dissolution of Partnership and Dissolution of Firm. 6

Ram and Shyam were pasrtners in a firm sharing profits in the ratio of 2 : 3 respectively.
They become old and no one there to look after their business. Thereforer, they de-
cided to dissolve the business and donate the amount available to an NGO who are
pvoiding service for growing trees in urban areas to control pollution. On 31st Jan. 2014
their balance sheet was as follows :
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